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2 VTU Formula Hand Book is permttted’}
3. M : Marks , L: Bloom’s level , C%% Course outcomes.

6 | L2 | CO1

b. | Find the angle of intersection for the pair of curve r = a(l + sin 9), 7 | L2 | CO1
r=b(l -sin0). °

i, e

| 7 | L2 | CO1
c. | Find the radius of curvature of the curve X’ +'y’ = 3xy at 575 I
. N 8 | L2 | CO1
2 | a. | Prove that the pair of curves r=asec )
b. 7 | L2 | CO1
c. 5 | L3 | CO5
3| a 6 | L2 | CO1
2 01
bl 7 | L2 |C
c. |If: 7 | L3 | CO1

u=x+3y* -2

v=4x’yz

w =227 —xy
o(u,v,w) w)
a(x, y,Z)

Find = ,0)
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4 | a. | Evaluate : ’7 L2 | CO1
X
X X
)lim[a +b ]
x—0 2
ii) lim (sin x )*"* .
x—0
. 8 | L2 |CO1
b. .
c. 5 | L3 | CO5
r 6 |12 ] CO2
5| a -
b. 7 | L3 | CO2
c. 7 | L2 | CO2
6 | a 6 | L2 |CO2
b. 7 | L3 | CO2

Esinot satlsﬁes “the equation :

fii

current at )tlmet if initiall t

c. Modlfy:fhe e% uation into Clt ut’s form. Hence find the general and singular | 7 | L2 | CO2
solution of xp” — py + kp +

} 1wtz 6 | L2 |CO3
7 | a. | Evaluate : I J f(;%+y+z)dydxdz
02
1 1-x? 7 | L2 | CO3
b. | Evaluate by changing the ord of integration : I jyzdxdy.
0 0
7 | L2 | CO3
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OR

Evaluate :
j _[ y\/ x% +y*dxdy by changing into polar form.
0 ¢

6 | L2

CO3

.

Find the area bounded between the paraboias

4ax and x* = 4ay using
double integration. '

CO3

’ do
‘Prove that |+/sin©® dox
: ;‘)‘ {x/sme

CO3

CO4

3x+2y+3z=18
x+4y+9z=16.
&

CO4

Using Gauss — Seidel iterative 1 method to solve :
S5x+2y+ z=12 ana
Xx+4y+2z=15
x#2y+S5z=20 U
Carryout 4 iterations; taking the 1n1t1a1 approx1mat10n to the solutlon as
(1,0, 3). '

CO4

10

7 | L2

CO4

Solve by Gauss’
2x +y+3zf
4x +4y+ 7z

2x +5y+9z=3.

Jordan method :

CO4

Using modern mathematical tool write a program/code to test the consistency
of the equations 4

Xx+2y—-z=1
2x+y+4z=2"
3x+3y+4z= l

COs

* %k ok sk ok
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